This entire note assumes that they know what the period, amplitude, phase shift and Axis of Symmetry are for certain curves

Graphing Transformed Periodic Functions

Investigate the parent functions 
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Verbal Description:

One cycle of the parent function 
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Verbal Description:

One cycle of the parent function 
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Now, let’s graph        
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Our A.O.S. is y = 1.  Our amplitude is 3.  Therefore,

our important points are 

A.O.S.(     , 1 )

Max    (     , 4 )

A.O.S. (     , 1)

Min     (      ,-2)

A.O.S. (     , 1 )
Now we can fill in our x-values by using the following logic.  Our d value represents our phase shift, which is the first x-value of our principal cycle.  We know that the period is 
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.  Since k=2, therefore our period is π.  We add π to our initial x-value to get the last x-value in the cycle.  Then, we determine the rest of the x-values by establishing four quadrants.
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Verbal Description:

One cycle of the parent function 
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 goes from the maximum to the A.O.S. to the minimum to the A.O.S. to the maximum.
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Verbal Description:

One cycle of the parent function 
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Now, let’s graph        
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Our A.O.S. is y = -3.  Our amplitude is 2.  Therefore,

our important points are 

Min.    (     ,-5 )

A.O.S. (     ,-3 )

Max.   (     , -1)

A.O.S. (      ,-3)

Min.    (     , -5)
Now we can fill in our x-values by using the following logic.  Our d value represents our phase shift, which is the first x-value of our principal cycle.  We know that the period is 
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.  Since k=3, therefore our period is 2π/3.  We add 2π/3 to our initial x-value to get the last x-value in the cycle.  Then, we determine the rest of the x-values by establishing four quadrants.
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